&F0 645y i = X 15
HXATF 4 - AT ABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| LZFHT 22
1 E&EBW 30 | LL|H 9.7 13 1T 17 — —
2 RaEinwy 30 | L.1#h 3.5 6.8%0 126 12— —
3 FELS o 30 | 11J# 2 E 4, SE@ 086 10—  —
RS o i
1 FSESL 30 | LLFE 3.1l 6. TR0 1280 19 —| —
2 kLo 30 | LR 2.1l 480 108 100 —| —
FRIE IR 30 | L1JHE 1. gt 3. 7[@ 6.2 6.2f | —
fali B i A KR — 3456 | | | —
RSO KIS 30 | L1|H 4.7 6.6 9.4 9.4 —| —
| IR 30 | 1.1 3.7l 5. iim 9. 9Em 9.9 | -
A Eoei 30 | 1.1 [ 3.4l 5.6l 9. 1l 0.1 — —
I FIR = FH iR —# 4. 5 6.1 - - - -
R TR R Lo R 30 | L1 |EeuEEYE HedE b - —
LRELLA DR S5
1 EERVCECEERY 30 | L1|d o 1d 20 17 17— —
2 _ERCEA Ot 30 | L1|4 8.8k 144 18 15 0 — -
T e e fibiich: — | B |EEEE e HvE PR — —
LFELIS O HiH 30 | L2|F 1 15F@ 14rm 14 - -
Fh1~3TH e i ek — | B A EEE e HhME phHE - -
EELLLA o Hithey 30 | 1.2|% 1gf 194 18H 15 0 — —
| KIF £ P L U —fhti 3.3 6.4 —|  —|  —| -
EREI N B UM IR R R AR 30 | L1|% 5. 4[: 9.5% 1o 100 —| -
LA ORISR 30 | L 1F 3.5%0 680 108 100 —| —
LSl =353 p:iN —l 1.9[;E o s
BRI 0> KR 30 | LL|H 2.7 5640 8.0ff 8.0  — -
# R A _E oD Fl g sk 30 | 1.1 Jﬁttfélatti”ér J:tﬁrmtti”é - -
EFRLIA 0> HitlE




&F0 645y i = X °H
HXATF 4 - AT ABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
s5 I 1 FSERW 30 | L1|f 18F 27% 18t 18— —
2 kRIS Hk 30 | 1.1|H 5.BH 6. THE 1IfE 11 — —
AN T fr P M X —l 2.8 5.5 —| —| —| —
RIS B A iRt
1 Bl e — | BEAR RIILMEELRYE e bW | —
I SER A 30 O N - R = o - R = b= - -
3 kRERLSt O 30 | 1.1 JEreugERE peHg peHE | —
_EFRLASh o> it
1 EERV 30 | L1|F 8.7 1460 1560 15§ 2 —| —
2 LSO K 30 LlﬂBA%96L9E%95 - -
Py MEREEL - 2 TH  |&k — | BAAR - - -~ - - -
A 5 A M IR —f#t 4. Ol 6.8 - - - -
VR IS H N AER I 30 | LolhseFel — - - -
EFRRLIA D Kk 30 | 1.1[f# 5.2l 6. L 9.5 0.5  — -
L = P —l 5. 060 6.4 —|  —| | -
T RHETS o H g
1 SRR M — | B AILYERLLHE kv bR — -
o RIS O HISR 30 1.1 %tb@glﬂ:@ i I s i - -
LRCLASR D I
1 JRERW 30 | L1|h 14 200 14 14— —
2 _LEBsA o ik 30 | L1|F 9.9 144 108 100 — —
EHkE £ P L U —foti 4.6 480 —| - - —
R T _ R A 30 Llﬁmﬁgmﬁ ey e - —
LEREA o Kk
1 RERWY 30 | L1|d 4 19 14 14 | —
2 LERLS o 30 | L1|F 11 1efi 9.4 9.4 @ — -
E¥E T AHE R oo g ek
1 B A — | B# b vy | —

EJH:XEF i




&F0 645y i = X 3E
HXATF 4 - AT ABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
By W 2 kRS OHIK 30% 1.1%J§Jttfglﬁtti”§ tté ttzgl B
RERLIA o Hitke 30 | L1|ho 15 17 JEP 14 - —
¥Rl - 2TH E=ei — | BRMR A YR L bhH LY - -
EiE Yl kA 30 | 1.1 M 3.9% 5.6 11 11 0 — —
<| % ARTTEHEVE R ARt
1 MRt — | R B eYEE e phdE e - -
2 BRFRLISh o i 30 1.1J§JttZE’/J;tI:Z’E bedd peE - —
EFRLIA o Hitkek 30 | L1|P oot 13t 14 14 — —
ZM1TH g e ieich — | BEME A CHEE LR bR LY - -
EELIA O Hi 30 | L[ 1ok a7 15 15 | —
Z| HAHTENR ) R —l o2 8 4.7 |~ | —
LRELIA D RS
1 RGERW 30 | L1 3.2 6.2 o.9% 0.9 —|  —
2 RECEAh oot 30 | 1.1 [#d 3. 10 6. OEm 7. OEm 7.0 — -
Tl ES = P —Mel 2.t 4.5 —  —|  —  —
ERELAS D I
1 RIER 30 | L1|f27f 5.9t 10 100 —| -
2 LR o 30 | 11 2 600 5700 8.8 8.9 —| —
T AET TR i P —Jiti 2. E 4.5 - - - -
LFRRLS O XI5
1 FaEinwy 30 | L1|f 3 ygf 6o 14 o1 —| -
2 RERLS O 30 | L1 3.2 .88 108 100 0 —| —
ERCLIE 157 = P XU —il 2. 5E 6.1 — - - -
LEREA o Kk
1 RERWY 30 | L1|d s 8o 14 14 | —
2 LERLS o 30 | L.L|#0 5.Off 7.8%0 13kE 13 0 — -
FEMMEHERE F% FH M K 3 —fet 2. E 5.2 —| | - -
ERRLISh O X8




&F0 645y i = X 1H
i RCET A4 - AT ARG E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| HETHERS 1 FSERW 30 | L1|F 4.3F 688 115 11— —
2 kRIS Hk 30 | 1.1 4.2 GJL9A%9A — —
L EETEE R fr P M X —l 2. 300 4.7 | —|  —|  —
SIS g 30 | 1.1 M 3.4 6. 3% 8.4 8.4 | —
HARTHEKRH FE PR M X3 —l 2.880 4.9 0 —|  —| —| —
LFREIA D K 5
1 ESERV 30 | L1|P s TR ToLM 9.2 0.9 —|  —
2 kFCLA o Mtk 30 | 1.1 | 3.8 6.7l 9.0/ 9.0  — —
ERE =Pl i A KR —Fl 2. Gt 5. s s
ERUADKE
1 REBN 30 | L1|H 40f 6.4% 104 100 | —
2 _EFLSh oM 30 | 1160 3.900 6.0%0 8.9%1 8.9 —| —
FERTES H iR 2 R L XI5 —t 2. 6,00 —|  —| - -
RERLIA D K 5
1 RiEiRw 30 | L1|# 5.0 7.5 12h 12 - —
2 bRELSt o 30 | L1WE 4.9 7000 9.4 0.4 — —
FAHT S5 P b X —l 2. 046 4.7 —| - - -
LFEELS oD R t5
1 FGERW 30 | L1 44f 6.2 8.6 8.8 —|  —
2 _ERCEA DR 30 | 1L Jfd 3.0%f 5. 7RI 7.2 7.2 — -
FARTSE Pt FH 1L X3 — o2 g 4.7 - - - -
EFRLA o I
1 REBW 30 | L1442 60 6.4 6.4 — -
2 _LELIS oM 30 | L L[F 3.8%0 5660 5.4 5.4 —| —
F AR B Fr PR X3 %2&E4J -1 - - -
ERELA o K IE
1 RERW 30 | L1|P4aghegdedahed —| —
2 kLSO 30 L1%3@*5Jﬁ5Aﬁ5A - -




ST 645y i = X 5E
HXATF 4 - AT ABEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
T| HEHTIEA £ P DU —foti 2. 500 4.4 —| - —| -
LIS D Ktk
1 Raainwy 30 | L1|h6.0fF 6.1 83083 | —
2 FELS o 30 | LLM 3.0 Soeo7.oRE 7.9 | —
S RET1~4TH g — | BEAR EIIRMEE L | | | —
L #EE1~3T8H Eeein — | AR B LB e - - - -
Ti% g i — | B pEeEEERE S | | | —
_ERCEASN 0> itk 30 | L1|P 14 13 10h 100~ —
THEL - 2TH  |BEAREHES — | B pELEEEE S | | | —
EELIA O Hi 30 | L1 gk o200 - - | —
TP ) R —l 4.5 5.9 0 —| —| —| —
T AHETR Lo Ak
1 M — | B [EILUEEELTE e e | —
2 _ERLEA iR 30 1.1J§Jttuf%’/1;tt"‘f% v e - —
LRELLA DR S5
1 RGERY 30 | L1|F o3 o1sd 12 12 | —
2 LRRLUL o sk 30 | L1|P 9.9k 1588 TwEsT  —| -
B I 30 | L1 fWE 3O 4. 9% 108 10 0 —| —
7o #E D i g b ek — | B J%Hﬂ%r;tt@r ttf’é[ﬂbtzﬁl - -
EhE#R 30 | 1.1 = —ph 158 15 - —
LIS o itk 30 | L2|h 8 128 1 11 — —
o1 2TH Eetin — | BoHR | Lh B b tt@rﬁttf@ - -
Bl TH = P XU —h 42l 41 - - - -
AR T _R o Mk 30 | 1.1 JEJLI:@EJ:I:ZE beve berE o | —
EERLIA 0 X
1 FEoORBEDRN 30 | L1|f 1718 19 19— —
2 H. K 30 | L1|h 57 6. 1% 8.0 8.2 | —
3 z. 0. 30 | 1.1 —

St 4.2r’@ 4.4?@ 8. 2l 8.2 —




&F0 645y i = X 6
i RCET A4 - AT ARG E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
b T 4 FRCLU O HER 30 | 1.1 [ 4. 20 4. 15 8. Brm 83 - -
o HH s fitps A5 — | B JEJH:%%EH:K’% i b — —
LELIA 0 HE 30 | Li|P s b 7o 0.l 9.7 —|  —
72 T JEET l=353F: i1 —l 3. Tt 5.5 | —| | —
EER 30 | L1|hoo.7d 148 oW 18 0 | —
[EETRA 30 | L1|P 5.8% 9. 0ff 16[: 1T I B
RERLAS 0 Hhi 30 | LR 3.7 soept 1l 1] —| —
a1 Eey 30 | 1.1 [Wd 1.5E 4,08 6.2l 6.2 —| —
i3 4m AR Eoei 30 | 1.1 W 1.7y 3.8%0 6.0 6.2 — —
(3 AFT1~8TH Eeeis — | B J?Jtti’élﬁttﬁr = s e
%| AP Esiid 30 | LW 3.8 5.6 9.9 9.9  —| —
| st — | B — - - - — —
bl ¥ T RHE TR o A ik
1 AR — | AR A EEE e HhHE EeME - -
2 LRELIA o Mt 30 YO O 115 W= = 5 = = O o = N == - -
ERLLASR O i 30 | L1|f e 17 15 15 - —
WE1~3TH Eee: — | B AILYERLLHE kv bR - -
< IWFE1~3TH o i ek — | BEAR JHICHEE TR RO bRYE - -
LFELIS O HiH 30 | 1.1 - —Ffﬂ; 11rm 1 - -
P HR1~4TH IR 40 | L1 [FMCHEEILRE R e — -
1 R ETPY IEGE 30 | L1|f 49 oogd 1gh 18 - -
FRLASR o iR 30 | L1|f 2.8 oA e 11E 1y — —
H RETH R K
1 #HERENE Lo Atk
(1) BsEiRy 30 | L1 [EYEE b b ey | —
(2)  EFELSOHI 30 | L1 JEJH:K’%JEH:E e v - —
2 ERRES O HE
(1) FEHR 30 | L1|h 5.0 .o 18 18 | —




SF0 675 s ® K 7H

i RCET A4 - AT ARG E

e R ks @ A o w4 [P PEEERTIBEITOGES

W HEBETHR (2)  EFLSh oK 30% 1.1 i 421 55@ 1?#@'@ 1? [
VR, iREFas 30 | 1.1 [ 3. 4E 5. 3Eﬁ e 1 - -
B ERLAA 0 sk 30 | L1 o7.gd 108 108 100 | —




